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1 Purpose

The purpose of this document is to clarify what is the ‘number of Broadcast Completed’ IE value to be reported in the response of the procedures Write-Replace and Kill.

2 Introduction  

It was clarified recently that the identification of a CBS message was not based on the entire serial number but only using a limited part of it: the twelve leftmost bits.

Before this change, the message was identified by the full old serial number, thus corresponding only to the last version number. 

Therefore, before the change, the number of broadcast to report in the Kill Complete was only the number of times the message with the last version number had been sent. 

With the change, the CBS message doesn’t include the version number and the kill function is successful even if the old serial number of the request is not recognized.

Therefore the following questions arise for the reporting of the Kill function:

Which version number is to be considered in the number of broadcast report: keeping the old meaning, it is only the last version, but aligning the report function with the new CBS message meaning, it should be the sum of all broadcast of all version number of this CBS message ever broadcast.

Similar value settings have to be clarified for the Write-Replace function.

3 Write-Replace Report  

The Replace function has been primarily intended to update the content of a same CBS message, the new content being signalled by a new version number.

The number of broadcast completed IE to be returned in the Write-Replace Complete message can be any of the following:

- number of broadcast completed of the version of the CBS message identified by the ‘old serial number’ IE included in the Request, (1)

- number of broadcast completed of the version of the CBS message identified by the value of the most recent ‘old serial number’ IE known in the SA: this one can be different in case of desynchronise of the update number subfield, as already explained. (2)

- number of broadcast completed of the CBS message itself which means the sum of broadcast of all versions of this message ever broadcast. (3)

It seems logical to report in the Write-Replace Complete the number of broadcast completed of one version of the CBS message only, and not the full number of broadcast of the CBS message all versions included. This eliminates (3).

It is believed that between (1) and (2), (1) is the correct one. A good reason for that is that the ‘old serial number’ field indicated in the Complete response, is global for all SAIs at message level and not included within the ‘Number of broadcast completed’ IE -> therefore it cannot be differentiated in the response per SAI.

Assuming option (1) is the correct one, the next question to answer is: how to report the number of broadcast for one SAI when there is discrepancy between (1) and (2) i.e. for this SAI, the most recent old version number known is different than the one received in the request. Again there are here two options:

- (1.1) the RNC indicates the number of broadcast done for the most recent version number it knows for this SAI e.g. for version 3 of the CBS message whereas version 4 was requested. Since all other SAI will reply for the version number 4, the CBC will take into account this number also as applicable to version 4 for this SAI as well. This will biaise its statistics.

- (1.2) the RNC indicates that despite the CBS message is recognized (twelve leftmost bits) , it has no match with the full old version number requested: in order not to biaise the statistics, it returns the value ‘0’ with the number of broadcast compl info set to ‘unknown’ to signal the discrepancy in version numbers.

In order not to biaise the statistics in the CBC, option (1.2) is the one that makes the most sense.

All this has to be clarified in TS25419 to define what is the correct response of an RNC vs CBC expectations.

The correct number of broadcast completed indicated by the RNC in its report will also help the CBC in building correct statistics about the service and be aware of any repeated discrepancy.

The Write-REPLACE Complete message also includes the ‘old serial number’. This number shall also reflect the version provided in the Write-Replace request message. 

4 Status Query Report  

The same question for the report of the number of broadcast completed holds true for the Status Query procedure.

The Status Query function has been primarily intended to report the number of broadcast completed of a given content of CBS message, therefore of a given version of CBS message.

Therefore, It seems logical to report in the Status-Query Complete the number of broadcast completed of the version of the CBS message indicated in the request only, and not the full number of broadcast of the CBS message all versions included -> solution (1) above.

When there is a discrepancy between the old version number IE received in the request and the most recent one known in the SA, it shall consistently be dealt with as per (1.2) – see above.

All this has to be consistently with Write-Replace clarified in TS25419.

This correct interpretation of the number of broadcast completed indicated by the RNC in its report will also help the CBC in building correct statistics about the service and be aware of any repeated discrepancy.

The Status-Query Complete message also includes the ‘old serial number’. This number shall also reflect the version provided in the Status-Query Request message. 

5 Kill Report

The kill has been clarified as killing the whole CBS message, regardless of its version. Therefore, it is logical to consider the number of broadcast completed returned in the Kill Complete message as the number of broadcast of the CBS message all versions included i.e. not only the last version broadcast -> option (3) defined above is retained as logical for the Kill.

The Kill Complete message also reports the ‘old serial number’ IE which has to be set to the value from the Request message.

Example: if message is killed after two broadcasts of ten messages taking each 10 minutes; then an outcome of 9 successful broadcast is bad if it is out of 20 but shows something different if it is out of 10.

6 Conclusion and Proposal: 

It is believed that discrepancy has been introduced in TS25419 when the report function was added to (compared to GSM) and meddled in the Replace and Kill function: the Kill and replace actions have to be successful for a given CBS message, whereas the report function –like for Status Query – only applies to a given version of a CBS message.

It is proposed to complete the alignment of TS25419 by correcting the report function part, to look at and agree on the attached CRs that are aligned with this paper.
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